Last Step of Chem Lab

Set up theinitial valuesand thetimeinterval: B0 =2 A0 =10 t:=0,.01..5

Start with these values of the proportionality constants: ki1 := 1 k2 =2
Aty = KLAO = K2BO o (k1 + k2)-t) + — <2 .(AO + BO)
k1l + k2 k1l + k2
B(t) = KZBO-ZKLAD h (k1 + k2)-t) + — <Y (A0 + BO)
k1l + k2 k1l + k2
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Now we change the values of the constants. But notethat theratio

K2 isthe same, so that the equilibrium values are the same.

k1l + k2
kl:=10 k2 := 20
A(t) = w-exp(—(kl+k2)-t)+ k2 (A0 + BO)
k1l + k2 k1l + k2
B(t) = M-exp(—(kl+k2)-t)+ ki (A0 + BO)
k1l + k2 k1l + k2
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k2
kl + k2
isstill the same, so that the equilibrium valuesremain unchanged.

Again we changethe values of the constants. But theratio

kl:=.1 k2 .= .2

A(t) = k1-AO - k2:BO k2'Bo-exp(f(kl + k2)-t) + k2

-(AO + BO)
k1l + k2 kl + k2

B(t) = k2:BO - k1-A0 k:I"Ao-exp(f(kl + k2)-t) + ki
k1l + k2 kl + k2

-(AO + BO)
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